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General Instructions to Candidates :
o There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
s Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.
¢ Read the instructions carefully.
¢ Calculations, figures and graphs should be shown in the answer sheet itself.
e Malayalam version of the questions is also provided.
e Give equations wherever necessary.

o Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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From questions 1 to 14, answer for 16 Scores,

L. Find out the leader who played a major role in the integration of princely states,
(a) Jawaharla] Nehru
(b) Mahatma Gandhj
(c) Pott Sriramuly
(d) Sardar Vallabhbha; Patel _ (1)

2. Jayaprakash Narayan demanded the dismissal of Congress government in Bihar and
. gaveacall for “Total Revolution’. Total Revolution means ?

(@) Overthrow of a government through armed revolution.
(b) Increasing agricultural production

(¢) Change in social, economic and political spheres inorder to establish g true
democracy.

(d) Revolution under the leadership of Communist Party. ' Kt

3. was the first part of India to hold election based on universal adult franchise.
(Manipur, Junagadh, Hyderabad, Kashmir) ' ¢ ))

4. From which Ccountry India adopted the concept of Five Year Plan 2
(Canada, USSR, America, France) 1)

5. Identify the Programme which is not a part of Land Reforms,
(a) Land Ceiling
(b) Abolition of Zamindari system
(¢) Nationalisation of agricultural Jand
(d) Consolidation of agricultural land _ (1)

SFE 36 _ 9



1 @3 14 apowes cansymngled mlan 16 CapodlNSs  GalBIBUdAe
DTMANALIT) .

1. m0g] @ORMEMBIHS TLCWIRMAIGE AVYAIWIM i} Qladls] ENEIAODAN
DHETBOI) .

(@) =maodend eamnn)
(b) @anommo Woawl
{c)  candl woomer
(d)  avdaod augyeow’ alegad 1) '

2. RO movoend  enflanodlon: eaderdnay mmm&mt@aﬁ
AUPTTOLOMMOBAT  ERUCDIOS)H Do ‘avnudean  allgjorocio’ @enpmo
921G Half). TLMNABR allajtio a)MENOB0ME BRAMOAROSNINE ?

(a) v allgjaiailenes wasdeaddlom adlais)e.
(b) H2Basdled OBIaIBMO adadlaflon)s.

(© dIw BOW®e qEenmolmn caeE auoapdle, avmIETio,
@il donamglengs @9Qpo.

(d) @ageiqy aodgloles somyoiomienes oflgjaie [43)

3. owdqeild (o@andonll cagaIene @RI gamoiad m@mmmsm“-r
MSaN ARBY (IEBUo @RYETD. ' '

(2emland, MNE; HOa0BEMINE, BowHlid) )

4.  agoy 'coosa,;«smi‘ WM)@26M GHAWY AR IUBBIV atBLEY ng)cm @R o Mlaaflai@y ?

(oMW, W).af)TV.af)aV.@Rd, @Rcades, noaday) )

5. @adlatiaeamoilang Ba:zamt AIEIDIS (IAIBGIIXD al@laldg] HETRON]
(@ epdlu dluenaleacs
(b) =ma@iom aumrIs @RaIaLITilaflencd
(©) a:;:m’le;éﬂ@;as CRUAVIAHHRVEMo

@ @ysie)les agaleosmo ' )

SFE 36 3 ‘ ‘P.T.0.



6. From the following, identify the military alliance formed under the leadership of USSR.

(NATO, SEATO, WARSAW PACT, CENTO) mm

7. From the statements given below, find out the most appropriate one relating to the
restoration of Congress party.

*  Congress become a leader oriented party
*  Party leadership came under the control of urban elite
*  Continued to accommodate different groups and ideologies

*  Party become more ideological in nature )
8.  Find out the plan proposal put forwarded by a group of big industrialists in 1944. 1)

9.  Some statements relating to emergency is given below. Select the right statements.
(a) Government suspended freedom of press
(b) Emergency was declared in 1976

(c) Arrested politicians can challenge their arrest in courts

(d) Government made extensive use of preventive detention @
10. Identify the popular movement led by Medha Patkar. 1)

11. Identify the first non-Congress Prime Minister of India. 1

12. Name the leaders who raised the following slogans :
(a) Garibi Hatao

.. (b) JaiJawan Jai Kisan 2
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13. Arrange the following events in chronological order :
¢  Bangladesh War
e  Thashkant Agreement
e  Indo-Pak war

e  Shimla Agreement 2

14. Match the following :

a. | Shyama Prasad Mukherjee | Communist Party

b. | Ram Manohar Lohia Bharathiya Janasangh

¢. | S.A.Dange Swathanthra Party

d. | C. Rajagopalachari Socialist Party @)
Answer any 4 questions from 15 to 19. Each carries 3 scores. 4x3=12)

15. Write any three major objectives of Nehru’s foreign policy.
16. Identify the three challenges faced by India after independence.

17. Which are the models of development before India at the time of independence ? Why
we adopted mixed economy ?

18. The formation of Janatha Party in 1977 was a new experiment, but it failed miserably.
Find out the reasons for the failure of Janatha Government.

19. List out the major outcomes of Five Year Plans.
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20.

21.

22,

23.

24.

25,

26.

27

Answer any 4 questions from 20 to 24. Each carries 4 scores. {4 x 4=16)

Prepare a short note on the following :
(a) Defection

(b) Non-Congressism

The failure of Neelam Sanjeeva Reddy, official presidential candidate of the Congress
party led to a split in the Congress. Explain the circumstances that led to the split of
Congress in 1969.

Chipko movement was one of the first environmental movements in our country. Write
a short note on Chipko movement.

*The Swathanthra party was a rightist conservative party and stood for protecting the
interests of the landlords in India.” Observe the statement and write a short note on the
policies of Swathanthra party.

Congress dominant system existed during the first three general elections. List out the

~ factors which helped Congress party to attain dominance.

Answer any 4 questions from 25 to 29. Each carries 5 scores. 4x5=20)
Explain the circumstances that lad to the Bangladesh war of 1971 and its consequences.

“The conduct of first general election was a tough exercise for the Election Commission
of India.” Substantiate the statement.

Explain the emergence of Anti-Arrack movement. How did it contributed in increasing
overall social awareness about the issues that affect women ?
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28.  Write the programme which India adopted to resolve the food crisis of 1960’s. List out
any two merits and demerits of this progamme.

29. ‘The year 1967 is considered as a landmark year in India’s political and electoral
history.” Explain the political and economic context of 1967 general election.

Answer any 2 questions from 30 to 32. Each carries 8 scores, 2x8=16)

30. The developments that led to the declaration emergency in 1975 is given below.
Analyse them.

¢  Economic Crisis

*  Gujarat and Bihar Movements

¢ Conflict with Judiciary

*  Judgement of Allahabad High Court

31. The Indo-China war of 1962 affected the bilateral relations between India and China.
Discuss the causes and consequences of Indo-China war of 1962.

32. The immediate challenge that India faced after independence was nation building
process. Discuss the various issues related to the nation building process.

Hints— e Partition and consequences
® Integration of princely states

® Reorganisation of states
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